
Securing cargo. We invented the concept.

80
30

77
 C

D-Series
FRIKTIONSFÄSTE PLASTPLATTA / FRICTION ATTACHMENT PLASTIC PLATE

Art.nr 803077



DescriptionBenämningArt.nrQTYPos.
PLASTIC MOUNTING PLATEMonteringsplatta Plast Flyttb.Fäste80308211
Upper ClampÖverbygel 190 115 14780076512
ScrewSkruv M6S M12x140 FZB21109813
Locking NutLåsmutter LM6M låg M12 FZB21185714
ScrewSKRUV M6S M20x130 FZB21124325
WasherBRICKA BRB M20 FZB21190246
Locking NutLåsmutter LM6M Hög M20 FZB21186127
LOWER CLAMPUNDERBYGEL80308118
FRAME SUPPORTRAMANHÅLL80093919

Securing cargo. We invented the concept.

80
30

77
 C

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

FRIKTIONSFÄSTE PLASTPLATTA / FRICTION ATTACHMENT PLASTIC PLATE 
Page 2 

Teknisk data / Technical details
Reservdelar / Spare Parts

1

6

7

2

3

4

70
 

18
8

Vikt / Weight 11,0kg

50 Nm

10

6

9

8

271

117

5 
- 1

5

5

350 Nm

246

24
0

26
0

48


